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15 A | PLUET APRET N Bl |EARA—HXIHE
A f # 17T B SH6FE2R9A

% L & & 4,114,000 [ CHERZET.)
L X F & (B) KA
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M%

1| (B)RHEKR 3,740,000 A,
2 | (A)&ERIE 3,760,000

3 | (B HEBEKEIE 3,770,000

4 | (B)BE#KELK 3,770,000

5 | (B)#IRIEFT 3,770,000
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I E %0 & #H| TEREREAM-KFEBHERHE) IS
15 B | FLUT KIFHET #hig Bl |EARA—HXIHE
A f # 17T B SH6FE2R9A
% L & & 3,322,000 CHERZET.)
L X F & B2z HEZE (%)
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| B2HEEXM®R) 3,020,000 A,
2 | (BHEIE 3,040,000
3 | (A) FRIEEH 3,045,000
4 | (BR) EDOHEIHIE 3,046,000
5 | (A)&EEX 3,050,000
6 | (A)ESH 3,050,000
7 | (B)RHfER 3,050,000
8 | (B)BHKELK 3,050,000
9 | (B)ERIE 3,050,000
10| (B) #IRITEFr 3,050,000
1| (A)BEKEIE 3,055,000
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15 AT | BLUETT BUATSRET #iR ER |SEIS
A f # 17T B SH6FE2R9A

% L & & 13,915,000 CHERZET.)
L X F & (%) 5EHE
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| (#%) =HE# 12,650,000 EAL
2 | REFEHR () 12,670,000

3 | (BR) SHERER 12,680,000

4 | FFREHR(¥R) 12,700,000

5 | (#k) tRELHE 12,720,000

6 | FEEE M) 12,740,000

7| (B EBERK 12,750,000

8 | () feTE& 12,780,000
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15 A | PLUAT EEEREHET N ER |SEIS
A f # 17T B SH6FE2R9A

% L & & 8,635,000 4 CHERZET.)
L X F & REFEH (R
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| REES ) 7,850,000 A,
2 | (%) amEME 7,880,000

3 | HFEHR () 7,890,000

4 | (¥R SHREREER 7,900,000

5 | (%) SEEHK 7,900,000

6 | FEEE M) 7,920,000

7| (k) HREGHE 7,950,000

8 | () feTE& 7,950,000
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15 A | FPLuET ELLZEHET Hhig Bl |EARA—HXIHE
A f # 17T B SH6FE2R9A

% L & & 7,370,000 [ CHERZET.)
L X F & (A RS

ol A OH o= o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| (A ESH 6,700,000 EFL
2 | BZHEZE (K 6,750,000

3| (A)&EEX 6,770,000

4 | (B) TRIRESR 6,800,000

5| (BR) &DOHLETFHEIE 6,800,000

6| (BRHLEIE 6,800,000 KiRE
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15 AT | PRUAT #KET N Bl |EARA—HXIHE
A f # 17T B SH6FE2R9A
% L & & 4,763,000 [ CHERZET.)
L X F & (BA)ERI%E
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| (BA)BERIE 4,330,000 AL
2 | (A)RAHEHK 4,350,000
3 | (B)#IRIEFT 4,370,000
4| (A)HEKEIE 4,390,000
5 | (B)BHKELK 4,390,000
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15 At | #IE™ N—F #R Bl |EARA—HXIHE
A f # 17T B SH6FE2R9A
% L & & 2,915,000 CHERZET.)
L X F & (B) KA
ol A OH o= o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| (B)RHEKR 2,650,000 &AL
2 | (A)&ERIE 2,670,000
3 | (B)#IRIEFT 2,670,000
4| (A)HEKEIE 2,680,000
5 | (B)BHKELK 2,690,000
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% L & & 2,772,000 [ CHERZET.)
L X F & (BA)ERI%E
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| (BA)BERIE 2,520,000 AL
2 | (A)RAHEHK 2,540,000
3 | (B)#IRIEFT 2,550,000
4| (A)HEKEIE 2,570,000
5 | (B)BHKELK 2,570,000
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